
LG G5 Strut Tower Brace 
Gen 5 Camaro 

“THE MOST POWERFUL HEADERS ON THE PLANET” 
Brought to you by LG Motorsports 

972-429-1963



Parts Inventory: 
1. Strut Tower Brace
2. Middle firewall brace
3. Driver side tower mount
4. Passenger side tower mount
5. (8) 5/16 x 18 x 1.25” bolts
6. (4) 5/16 x 18 x 1.00” bolts
7. (12) 5/16 x 18 nylock nuts
8. (2) 10 x 1.5mm nylock nuts
9. (1) 10 x 1.5 x 25mm bolt
10. (3) 10mm washer
11. (24) 5 /16 washer

Instructions: 
Install 

We will start the install by removing some items to gain clearance to drill into the 
firewall of the car.  You will need to remove the factory engine cover, wiper arms, as 
well as the wiper cowling as you will be required to drill two mounting locations into the 
firewall.  The wipers will need to be un-bolted, the cowling is held in with the plastic GM 
push pins so be careful not to break them when removing as you will be re-using these.  
Removal of the front wheels at this time will also make install of the brace mounts much 
easier to the strut towers.  

Once the items have been removed and you have access to the firewall you will 
lay the bar on the car to start the mock up for the first two holes needing to be drilled.  
The passenger side of the bar will need to be routed through two of the ABS lines as 
shown in figure 1.   Once the bar is roughly located onto the car you will make your 
marks to drill the two holes for the studs into the firewall.  These are 10mm studs, to 
make it easier to locate use a 7/16” drill bit for the two studs.  You can use the firewall 
backing plate as your drill template.  

Figure 1:  Strut tower running through the ABS box 



Once the holes are drilled for the firewall plate loosely place the 10mm bolts, 
washers, firewall support and nuts onto the firewall.  Then you will slide over each side 
mount onto the brace using the supplied 5/16” x 1.25” bolts and this will make the 
template for the holes that will need to be drilled into the strut towers.   

After the holes are drilled for each side mount, clean the drilled holes and bolt 
into place using the supplied 5/16” hardware.  The top bolt hole locations will use the 
longer 1.25” bolts, while the bottom holes will use the shorter 1” bolts.  

Figure 2: Driver side tower mount 

Figure 3:  Passenger mount and ABS lines 

Once all holes have been drilled and located.  Start by securing the firewall bolts 
first then the strut tower bolts, and finally the strut tower mounts to the brace. All 
hardware is nylock so no thread lock is required. 



I thank you for choosing LG Motorsports for all of your Corvette and Camaro 
needs. 

    Sergio De La Torre
President LG Motorsports 

LG Motorsports is not responsible for any improper install, modification to product, or 
any changes made by installer to product.  Any welding or modification will void any 
product warrantee.  LG Motorsports or the dealer is not liable for any loss, damage, or 
injury due to the direct or indirect use of this product.  These components are intended for 
off-road use only and are not intended for use on street legal, pollution controlled 
vehicles.   

Note: These products are intended for racing use and off-road applications only and are 
not legal for sale or use in the state of California, or in states which have adopted 
California emissions standards.   




